## Some Moment calculations.

Vaughan F.R. Jones \*

March 28, 2008

## 1 Introduction

We calcluate the moment generating function for some Temperley Lieb elements arising in the graded algebra of a planar algebra. Or at least we obtain algebraic equations satisfied by them.

## 2 Preliminaries

The main goal is to calculate the moments of the following element of  $M_0$ :

the boundary disc being an implicit horizontal line containing the end points of the strings and the graded algebra structure is given by concatenationplace one element to the right of the other. And the crossing denotes the pro-





where we are using planar algebra diagrams with

Thus our goal is to caluclate the following scalars



<sup>\*</sup>Supported in part by NSF Grant DMS0401734, the Marsden fund UOA520, and the Swiss National Science Foundation.

Where there are n crossings (so the actual picture is of  $a_4$ ), and the box containing  $\sum$  is the sum over all Temperley-Lieb connections of the 4n boundary points.

The first method of calculating a will be painful  
a will meanboly involve calculation of the following  

$$C_n$$
 which we start with as a warment:  
 $\dot{C}_n = \underbrace{\sum}_{g \in S \to I} \underbrace{C_0 = S_0 \land S \downarrow}_{g \in S \to I}$   
we agree on the possible convections in S of the leftment boundary  
point. For party recoon it must be connected to are at an each  
obstine from it so in general we got a sum  
 $\underbrace{\sum}_{g \in S \to I} \underbrace{\sum}_{g \in S \to I} \underbrace{C_0 = S_0 \land S \downarrow}_{g \in S \to I}$   
but this is a convected sum on the detted line so is  $\frac{1}{5}$   
then  $\underbrace{\sum}_{g \in S \to I} \underbrace{\sum}_{g \in S \to I} \underbrace{C_0 = S_0 \land S \downarrow}_{g \in S \to I}$   
but this is a convected sum on the detted line so is  $\frac{1}{5}$   
then  $\underbrace{\sum}_{g \in S \to I} \underbrace{C_0 = S_0 \land S \downarrow}_{g \in S \to I}$   
 $K = \underbrace{\sum}_{g \in S \to I} \underbrace{C_0 = S_0 \land S \downarrow}_{g \in S \to I}$   
 $K = \underbrace{\sum}_{g \in S \to I} \underbrace{C_0 = S_0 \land S \downarrow}_{g \in S \to I} \underbrace{C_0 = S_0 \land S \downarrow}_{g \in S \to I}$   
 $K = \underbrace{\sum}_{g \in S \to I} \underbrace{C_0 = S_0 \land S \downarrow}_{g \in S \to$ 

$$\sum_{j=0}^{n} \sum_{j=0}^{n} \sum_{j$$

Now be the general case, define  

$$b_{m,n} = \underbrace{a_{m,n'}}_{m,n'} + \underbrace{a_{m,n'}}_{n',n'} +$$

Now the easy way (for sine bitarre reason)  
readle 
$$a_h = (1 + 1) f_h^{-2} + \frac{1}{5} (f_h^{-2}) f_h^{-1} + \frac{1}{5} (f_h^{-2}) f_h^{-1}$$
  
 $he will ague on where the
second bundary part from left is unrecled to
the party mode to be characted by the fillowing picture econocided sum
 $f_h^{-2} = (1 + 1) \frac{f_h^{-2}}{f_h^{-2}} + \frac{1}{5} (f_h^{-2}) d_{h-1}$   
 $= a_{h-1} + 1 \frac{f_h^{-2}}{f_h^{-2}} + \frac{1}{5} (f_h^{-2}) d_{h-1}$   
 $= a_{h-1} + 1 \frac{f_h^{-2}}{f_h^{-2}} + \frac{1}{5} (f_h^{-2}) d_{h-1}$   
 $= \frac{1}{5} \int_{1-5}^{2^{-1}} a_{h-1} d_{5} + \frac{1}{5} (f_h^{-2}) d_{h-1}$   
 $= \frac{1}{5} \int_{1-5}^{2^{-1}} a_{h-1} d_{5} + \frac{1}{5} (f_h^{-2}) d_{h-1}$   
 $= \frac{1}{5} \int_{1-5}^{2^{-1}} a_{h-1} d_{5} + \frac{1}{5} (f_h^{-2}) d_{h-1}$   
 $= \frac{1}{5} \int_{1-5}^{2^{-1}} a_{h-1} d_{5} + \frac{1}{5} (f_h^{-2}) d_{h-1}$   
 $= \frac{1}{5} \int_{1-5}^{2^{-1}} a_{h-1} d_{5} + \frac{1}{5} (f_h^{-2}) d_{h-1}$   
 $= \frac{1}{5} \int_{1-5}^{2^{-1}} a_{h-1} d_{5} + \frac{1}{5} (f_h^{-2}) d_{h-1}$   
 $= \frac{1}{5} \int_{1-5}^{2^{-1}} a_{h-1} d_{5} + \frac{1}{5} (f_h^{-2}) d_{h-1}$   
 $= \frac{1}{5} \int_{1-5}^{2^{-1}} a_{h-1} d_{5} + \frac{1}{5} (f_h^{-2}) d_{h-1}$   
 $= \frac{1}{5} \int_{1-5}^{2^{-1}} a_{h-1} d_{5} + \frac{1}{5} (f_h^{-2}) d_{h-1}$   
 $= \frac{1}{5} \int_{1-5}^{2^{-1}} a_{h-1} d_{5} + \frac{1}{5} (f_h^{-2}) d_{h-1}$   
 $= \frac{1}{5} \int_{1-5}^{2^{-1}} a_{h-1} d_{5} + \frac{1}{5} (f_h^{-2}) d_{h-1}$   
 $= \frac{1}{5} \int_{1-5}^{2^{-1}} a_{h-1} d_{5} + \frac{1}{5} (f_h^{-2}) d_{h-1}$   
 $= \frac{1}{5} \int_{1-5}^{2^{-1}} a_{h-1} d_{5} + \frac{1}{5} (f_h^{-2}) d_{h-1}$   
 $= \frac{1}{5} \int_{1-5}^{2^{-1}} a_{h-1} d_{5} + \frac{1}{5} (f_h^{-2}) d_{h-1}$   
 $h - 1 = \frac{2}{5} (h^{3} + (f_h^{-1})h^{2}) + \frac{2}{5} (f_h^{-2}) (h^{3} + f_h^{-1}) + \frac{1}{5} (f_h^{-2})h^{1}$   
 $ad(h+g) h^{2} \cdot e_{5} ((h+g) + h^{2} \cdot 2) = \frac{2}{5} (f_h^{-2} + f_h^{-5}) \int_{1-5}^{2^{-1}} f_h^{-1} d_{5} + \frac{1}{5} (f_h^{-2})h^{1}$$ 

## References

- Popa, Sorin The relative Dixmier property for inclusions of von Neumann algebras of finite index. Ann. Sci. École Norm. Sup. (4) 32 (1999), no. 6, 743-767.
- [2] Connes, Alain Noncommutative geometry, Academic Press, 1994.